
qm=;+= ljj/)f b/ 

1 xf]l*ª af]*{ k|lt ju{lkm^ ? 5

2 /+lug lj!fkg %kfO{ z'Nssf] 10 k|ltzt 

3 ;fbf kf]i^/, kDkn]^ k|lt kf]i^/ 10 k};f 

qm=;+= ljj/)f b/ 

1 d]nf dxf]T;j nufot cGo dgf]/~hgfTds sfo{qmd s'n cfosf] 10 k|ltzt 

qm=;+= ljj/)f b/ 

1 lgdf{)f /]vb]v dd{t ;+ef/ vr{ s'n cfosf] 10 k|ltzt 

qm=;+= ljj/)f b/ 

1 b"O{ kfª\u|] ;jf/L ;fwg 
tLg #)^f ;Dd ? 5 / ;f] eGbf al( 

k|lt tLg #)^f ? 10

2 rf/ kfª\u|] ;jf/L ;fwg k|To]s #)^f ¿= 10 

qm=;+= ljj/)f b/ 

1 :jb]zL ? 20 k|lt lbg 

2 ljb]zL  *n/ 1 k|ltlbg 

cg";'rL 7

cg";'rL 11

^«]lsª z'Ns 

cg";'rL 10 

kfls{ª z'Ns 

cg";'rL 8

dgf]/~hg s/ 

cg";'rL 9 

jxfn lj/f}^L s/ 

lj!fkg s/ 



l; g+= ljj/)f b/ 

1   Plss[t ;DkQL s/÷#/hUuf s/ 
s'n d'Nof+s)f ePsf] ;DklQsf] 

0=001 sf b/n] nfUg] 

l;=g++= ljj/)f b/ -k|lt ju{ld^/sf] _

1 l;d ahf/ / /f*L ahf/ If]q -s ju{_ ¿= 0=50 k|lt ju{ld^/

2

%]kf/]b]lv l;d ahf/;Dd -l;dahf/ If]qeGbf  

500 ld^/ jflx/_ / /f*Lahf/ -/f*L ahf/ 

If]qeGbf 500 ld^/ jflx/_ b]lv #f/Lvf]nf;Dd 

d'n ;*sb]lv 50 ld^/ bfof+jfof +-v ju{_

v]t ¿= 0=25 k|ltju{ld^/ 

kfvf] ¿= 0=15 k|ltju{ld^/

3

/f*L -/f*L jhf/ If]q jfx]s_ b]lv lqj])fL;Dd 

d'n ;*ssf] 50 ld^/ bfof+jfof+ bfdfrf}/ b]lv 

lqj])fL;Ddsf] If]q jfx]s -u ju{_

v]t ¿= 0=20 k|ltju{ld^/  

kfvf] ¿= 0=10 k|ltju{ld^/

4 j*fx?sf d"Vo j:tL -# ju{_
v]t ¿= 0=15 k|ltju{ld^/ kfvf] 

¿= 0=07 k|ltju{ld^/

5 dfly pNn]lvt jfx]ssf] If]q -ª ju{_
v]t ¿= 0=07 k|ltju{ld^/ 

kfvf] ¿= 0=05 k|ltju{ld^/ 

cg";'rL 1

;DkQL s/ 

cg";'rL 2

e'dL s/ -dfnkf]t _



l; g+= ljj/)f b/ 

1   Plss[t ;DkQL s/ 
s'n d'Nof+s)f ePsf] ;DklQsf] 

0=001 sf b/n] nfUg] 

l;=g++= ljj/)f b/ -k|lt ju{ld^/sf] _

1

d'n ;*sb]lv bfof+afof+ 50 ld^/leq -s ju{_ 

l/Dgf b]lv /f*L ahf/, /f*L ahf/b]vL d"l;sf]^, 

/f*L ahf/b]vL lqj])fL hfg] af^f]sf] 50 

ld^/leqsf] bfof+afof+sf] If]q   

?= 0=50

2

j*f ;ldltn] lgwf{/)f u/] adf]lhdsf] 

;xfos÷u|fld)f ;*s leqsf] d"Vo a:tL If]q -v 

ju{_ 

?= 0=25

3 s ju{ / v ju{sf] afx]ssf] cGo ?= 0=05

cg";'rL 1

;DkQL s/ 

cg";'rL 2

e'dL s/ -dfnkf]t _



qm=;= ljj/)f 

1 :jb]zL ¿= 10

2 lab]zL 1 *n/

3 ljb]zL ¿= 10

4 ljb]zL 100 *n/

5 :jb]zL ¿= 10

6 ljb]zL 1 *n/

7 :jb]zL ¿= 10

8 ljb]zL 1 *n/

1 l#p 

2 dx 

3 kmnkm'n 

4 t/sf/L 

5 b'w 

6 v;L af]sf 

7 &'nf kz' rf}kfo -/f+uf e};L cflb_

8 s"v"/f 

9 dlb/f a]o/ 

10 dlb/f cGo 

11 r'/f]^ ;'lt{ 

12 c)*f 

qm=;= ljj/)f 

1 xf]^n Joj;fo 

2 #/ leqaf^ lgisg] kmf]xf]/ 

cg";'rL 15

100

10

kmf]xf]/ d}nf Joj:yfkg z'Ns 

z'Ns -¿=_

k|lt lsnf] Ps ? 2

k|lt lsnf] Ps ? 50 k};f 

k|lt uf]^f 10 k};f 

k|lt sf^f]g 25

k|lt sf^f]g 50

k|lt kf]sf 5 / k|lt af]/f 250

k|lt lsnf] Ps ? 50 k};f 

k|lt ln^/ 50 k};f 

k|lt uf]^f ? 20

k|lt uf]^f ? 100 t/ ufO{ uf]?sf] xsdf k|lt uf]^f ? 50 

nfUg] 

k|lt uf]^f 1 

cg";'rL 13

ko{^g z'Ns -k|ltlbg _

z'Ns 

lxdfn cf/f]]]x)f 

k|lt lsnf] ? 1

cfof{t÷ lgof{t z'Ns 

cg";'rL 14

b[Zofjnf]s)f

cWoog e|d)f 

lty{ofqf 


